IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

9 Piece Dining Set

ITM. / ART. 1309554
ASSEMBLY / CARE & USE INSTRUCTIONS

THE ITEM IS INTENDED FOR OUTDOOR DOMESTIC USE ONLY, NOT FOR COMMERCIAL USE.

PARTNO.| A B C D E

PICTURE £
QTY 2 7 2 2 2

PART NO.| AA M6x30 |BB M8x45 CC DD EE

PICTURE | (mmm | (f]jmmmmm @ % G—=¢
QTY 12 8 8 8 8

Questions, problems, missing parts? Before returning to your retailer, call our customer service department at 1-888-690-9800 or email us at cs@sunvillahome.com
8:30 a.m. — 5:00 p.m. PT/11:30 a.m. - 8:00 p.m. ET, Monday - Friday. English and Spanish.

PREPARATION

Before beginning to assemble this product, make sure all parts are present. Compare parts with package contents list and hardware contents list. If any parts are missing
or damaged, do not attempt to assemble this product. Stop and call our customer service center.

Estimated Assembly Time: 45 minutes. Tools Required for Assembly: Wrench (included).

SAFETY INFORMATION

Please read and understand this entire manual before attempting to assemble or install the product. It should not be used as a toy or tool. Children should not engage

in the operation, assembly, removal, or disassembly of the product.

1/10

Made in China



3
#

p

te

S

2
tep #
S

1
#
p

te

S

=
1 /
iy I|I||:|I|ll||I|I|| |
il" ||||Ill !
Il || |||I
||||l|l||l|llll|||
|I||||||l|II|||lI
n|‘|'||}llll||||II ‘ l
llllIIIII‘|‘|||
*.lmnlllll |
\\mnl l‘|||
W I|||||||||llll|I
! lllh'l
|=|‘
y : '
:
. &3
l|‘
I llllll‘llllllllllll“ B /lw,
b mll.|II|II
iy |I|ll|||||||-
|||ll| ‘l : ’
;||'||l||'|'|{‘|‘|‘|lll!l
y “m|'||l_
3 ll‘lll‘“‘l!‘
llll‘“l
” lll||
| lll"h
\ﬁ‘ll‘,‘l‘ll!
| l||‘=‘| i
‘ i
S ,
1??‘\\
ii1|i‘l|ll‘|‘l‘|‘|\l
:ﬁ"‘lmnm
.a'.='.='.='.='.='.==-_.
-'|i|||||||ll|l|llI
““““ml"l!l_
lil|||=llllllll‘lllll||l ‘5!_.
p ““““l‘"li_
|||||||||||||L
“““m|||l|_
|||||||||| “ll_
mmn,lll!l
“‘ll‘l‘ll“"“‘.!.
||||||IIlll
|||||||l‘—
\l‘lll"“ll
) {‘lh-
: : l'l'
S

2/10

a
hin
inC

de

a

M



Step#6

Step#5

Step#4

3/10

Made in China




Step#9

Step#8

Step#7

e DI ey
IOPL L LT
AR AR RTINS
AR AR
A AT AR AT
AR AR
A,
R
| PR
A AR AR AR

QV\V.

3

Cushion

To ensure longevity of your patio set each seat cushion is made with high density foam. With initial use the seat cushions may feel firm, but with continued

use the cushions will continue to soften and provide the ultimate comfort for seasons to come.

4/10

Made in China




Step # 10

CARE AND MAINTENANCE

Frame and fabric
- Hand wash with mild soap and rinse thoroughly with water. Dry with a soft cloth.
- Do not use abrasive cleaners or scrub too rough as it may mar the surface.

Chair fabric
Sunbrella® fabric should be cleaned regularly. Brush off any loose dirt and wash with a mild soap and lukewarm water solution. For stubborn stains and mildew, wash with
a solution of 236 ml (1 cup) of bleach and 59 ml (1/4 cup) of mild soap per 3.8 | (1 gallon) of water. Rinse thoroughly to remove soap. Allow fabric to air dry.

Note: Do not machine wash.

5/10

Made in China



]

7

I
{} ,1,
TR
,l',l
h

iy

,l','l'
17 ? ,,,,l,',',
HHET

il
"""l
','l",l

l",'
i

i
l
iy

1
{

it
)

1 ',I,I'.i.'. -

THRRH

i
i

|',i,'|
H1 h
l', H
l,,

,.
i

I

I
it
i
Iy

Step # 1

l"','

/]
l"',
,l

,l
i ",,l
/]
,l

'l
,.',',l
,l,','
i,

l",,l
,'
il
i} i

ff
bt
H
l,|

_,!=!_

W
W
o

1
J
y

FF

AR MBX30

PICTURE

.,.,.
{}
i
1

i
i

‘-\_1\‘

1
i
i

il
il

1
y
7
A

l,,,',
,,,
H

f}
il

l,,,'
iy

i
il

1

l",l
",
S

T
]
el
\§§§

e

J'.

N

i}

l,'. )

EEsSRees

il

QTY

60

il
CETL |||||I|ll
i

it
e
G
T
Lt
LY
H i

A
- “‘llll b
iy

i i

N

i
yhiy
ittt
byl
iy

!

ik :

HHH | I

y ll||l||‘||ll||||lll‘|||‘|l‘|||‘ b
A

lll!ll!!l!ll.llnl

{t
{H:
||!I!I|.

Step # 2

Step # 3

N
2o
SRRy
oV
s ﬁl
!

\‘l
i

~ <&
\\’s_
S

1
W
‘I‘l‘l‘l
z
J |I‘||||
SONY
oy
e

>

0
lI|I||||
“ ki ‘lll
‘ll-‘.

i
Y
j

y
i
T
Ly

2 |i|||
T
i

i |‘|||'|\\
{h}
“lll l|||||||||\
l||||||||l||l‘|||||||ll‘
|| ATHHHH
iy ||l||||||||
it
L

6/10
Made in China




Step # 6

[
i
\,

Step # 5

Step # 4

7/10

Made in China




Step # 8

HAF

HHHLL
HH

i

M
wiliti
f&?

T H
]

ff —n—
HAHHTHE
-~ /1 —-----~-~—
;ﬁ#s
! HHT _—,~ :

P [ oy

Step#7

R
T H R A HAH LR
T T A AR
i A
(RN R HH S L AR H AT
HH KN HH HH A R HH R T
I H A A H A H A AR
A T A R
R e e

R

CARE AND MAINTENANCE

Frame and fabric

- Hand wash with mild soap and rinse thoroughly with water. Dry with a soft cloth.
- Do not use abrasive cleaners or scrub too rough as it may mar the surface.

Chair fabric

Sunbrella® fabric should be cleaned regularly. Brush off any loose dirt and wash with a mild soap and lukewarm water solution. For stubborn stains and mildew, wash with

a solution of 236 ml (1 cup) of bleach and 59 ml (1/4 cup) of mild soap per 3.8 | (1 gallon) of water. Rinse thoroughly to remove soap. Allow fabric to air dry.

Note: Do not machine wash.

8/10

Made in China




GG HH
PART NO. L M6x15| M8x40| |
PICTURE == tpm | 5
QTY R ) ° 1
Step # 1 Step # 2

9/10

Made in China



Step # 3 Step # 4

g——CFF

CARE AND MAINTENANCE
Frame

- Hand wash with mild soap and rinse thoroughly with water. Dry with a sofa cloth.
- Do not use abrasive cleaners or scrub too roughly as it may mar the surface.

10/10
Made in China



Ensemble de Salle A Manger 9 Piéces
ITM. / ART. 1309554

INSTRUCTIONS D'ASSEMBLAGE, D’ENTRETIEN ET D'UTILISATION

IMPORTANT, A CONSERVER POUR DE FUTURS BESOINS DE REFERENCE :

A LIRE SOIGNEUSEMENT
PRODUIT DESTINE A UN USAGE EXTERIEUR DOMESTIQUE SEULEMENT, ET NON A DES FINS COMMERCIALES.

PIECE A B C D E

IMAGE @

QTE 2 2 2 2 2

PIECE | AA M6x30 |BB M8x45 CC DD EE FF
-

MAGE | (Pmmm | fmmmm<=—=>| ) | (£ |o9—=

QTE 12 8 8 8 8 2

Questions? Pieces manquantes? Avant de retourner chez le détaillant, communiquer avec le service a la clientéle au 1-888-690-9800, en semaine, entre 8 h 30 et 17 h
(heure du Pacifique) ou entre 11 h 30 et 20 h (heure de I'Est), ou écrire a cs@sunvillahome.com. Service en anglais et en espagnol.
PREPARATION

Avant de commencer le montage, vérifier qu’il ne manque aucune piéce. Comparer le contenu de 'emballage avec la liste des piéces et de la quincaillerie. Si une
piéce manque ou est brisée, ne pas assembler le produit; appeler le service a la clientéle. Temps d’assemblage estimé : 45 minutes. Outils requis : Clé (comprise)

A CONSIGNES DE SECURITE

Lire attentivement le présent guide avant de commencer I'assemblage du produit. Ce n’est ni un jouet ni un outil. Les enfants ne doivent pas actionner, assembler,
déplacer ou démonter le produit.

1/10
Fabriqué en Chine




Etape 1 Etape 2 Etape 3

. ,,,-rffii‘ii\ s A
i
N
aitiirnhidiiidung
i
i bty
L N
S Lo A
W - ; l
o i |
T A A AR
! TR
b ity :
St l“l‘ll“l'lllll““l“l T ] P |'|||'|"|‘|=‘|||l h
g I““I‘!li===$=‘=‘==“|‘=‘“‘=‘l‘l=“ | RS T .
i Illl|||||||ll|||lllllllll=I||I|||l=II‘IllllI‘lI‘ll1 \ G l|l|“!!
o iiRanain 5
R '
Ik ||I|l‘|l‘l|l‘|l|l|l|l|'|!.l.l s e
rfddfies |
g [
N

2/10

Fabriqué en Chine



z

Etape 4

Etape 6

Etape 5

3/10

Fabriqué en Chine




z

Etape 9

Etape 8

Etape 7

_ \D‘- SRR -—-—-—.
(T
N
AN AR R IR AT A T
Lt it diriitid iy
A A
AL AT AR TR SR
R
—— —,

|
i
T

i
PradEiiniin L
T AR
TR AT AR
b A

A ——.——-——- w.—l—\.—\.\-\\——\—nu.,

; \\\\\\\,\V.

Coussins

Pour assurer la durabilité de votre mobilier extérieur, les coussins de siége sont faits de mousse haute densité. lls pourraient sembler fermes a la premiére utilisation, mais

avec l'usage ils s’assoupliront et vous apporteront un confort sans égal des saisons durant.

4/10

Fabriqué en Chine




Etape 10

ENTRETIEN ET NETTOYAGE
Cadre des chaises

- Nettoyer a la main avec une solution de savon doux et d’eau, puis rincer a fond. Sécher avec un linge doux.

- Ne pas utiliser de nettoyants abrasifs ou frotter trop vigoureusement, car cela pourrait abimer la surface.
Tissu des chaises

Les tissus Sunbrella® doivent étre nettoyés régulierement. Enlever la saleté avec une brosse et laver avec une solution de savon doux et d’eau tiéde. Pour les taches

tenaces et les moisissures, utiliser une solution de 236 ml (1 tasse) d’agent de blanchiment et de 59 ml (1/4 tasse) de savon doux dans 3,8 | (1 gallon) d’eau. Rincer
abondamment pour enlever le savon. Laisser le tissu sécher a l'air. N.B. : Ne pas laver a la machine.

5/10
Fabriqué en Chine



7
]

I
- -’—-----' .
r----~--—-—:|
.—---------l
w-——~~§--—.—n
---------—-.l
‘--—-.r---—-u
---~-~--.;--| T
-———--.----n S mana
-----—~———---n o o]
---:—,------n B
.----------l ---~~
---———-----n '~~---
--.--——-—---1 --~‘
-—~--------n '--~-.
-—---—-----n o =
-------~~-.n ---- /
-----~~.——-—-v P o
.'----~~--—-r e
-~~-------. A S -
--------—- -~~--A
l—--—-~~—-r ——---‘
--~~—.--.;-. y e
-———---~~~- oY
-——-—.---- 4--~-./
-—-—r.——---r L2
.-_—-—.-.-..-—r ﬁﬁii{,’"
-------“ 'f/ 6
= S S= s
l’ i
! o z 6
----——---—.-“
---_--~—--——l
-——---—-—-—
--————----
----~;~~-—-
---~—-———-
-~~------
-—-—- —

f
i
;
i
[
i
[ A1

Etape 2
Etape 1 _H
F

byl

AN

T, < “‘|| oy |||||| || Ll

SRSy Bylghyly
\\“\“\\gr,l?if‘ﬂlll‘ll“‘ l||||,|||l|=}||
‘ T
o )
" ‘li‘iii""iﬂ"lin?l":'llﬂ ‘ i i
i) L
SRy A T iy
: bbb iy pitiberty
- l||'III|‘|I||‘|Il|‘||t srnidibhii)
[ bt bt ; W i
nhidh iyl bty iy
AA ) 1l'.l|‘,|{|‘|l|‘||‘,|‘|l|'||‘,|{I|}|!|!l-"‘ \ |l||l|{||l|ll|||||||‘|||||l|ll|‘|||
s i A
=~ Sttt il Iy LAY
S B = TR
- S b THHHAA hbsl:ts
) S
" AN ) S
. | 7 - N .
< -
6/10

Fabriqué en Chine




Etape 4
Etape 5
Etape 6

|||ll||"||‘=I‘||=|||‘l
i

rind

M T
piylybhtiy
R
R
Sttty
]
||'|“"|'l|‘=‘|' lllll!‘!H

I
«

ity
i
| A
b

iy

_ 7/10
Fabriqué en Chine




Etape 7

Etape 8

HHF

1HH]

1AHH]

........... i .......

HHHLAHA]

~—~:—--:,— I
HHATHH? TTHHAA

THHHAH A K]
b it

L T

i ::-,,,,.—=- | DS

i ,—,,~— /] ,,-——,ﬁ——.—u. H] THH A A e
Fnﬂn—?——-###&# -—-—~-~-~—---~—-~-~-~.--—---—.\
K L T U AR
CHHH A H N I H A LA
HH L HH A H R R H A R A A R H A
LN T R A KR H AT A
[ H AN H M AR AR A HH HH A,
R

AH]

ENTRETIEN ET NETTOYAGE

Cadre des chaises

r?e doux.
la surface.

mer

fond. Sécher avec un lin

kY

eau, puis rincer a

yants abrasifs ou frotter trop vigoureusement, car cela pourrait ab

er a la main avec une solution de savon doux et d’

as utiliser de netto

Tissu des chaises

- Nettoy
-Nep

eau tiede. Pour les taches

tenaces et les moisissures, utiliser une solution de 236 ml (1 tasse) d’agent de blanchiment et de 59 ml (1/4 tasse) de savon doux dans 3,8 | (1 gallon) d’eau. Rincer

abondamment pour enlever le savon. Laisser le tissu sécher a 'air. N.B. : Ne pas laver a la machine.

Les tissus Sunbrella® doivent étre nettoyés régulierement. Enlever la saleté avec une brosse et laver avec une solution de savon doux et d

8/10

Fabriqué en Chine




GG

HH

PIECE

c L M6x15| M8x40 FF
IMAGE mm | 5——¢
QTE 2 4 8 1

Etape 1 Etape 2

9/10

Fabriqué en Chine



Etape 3 Etape 4

g——CFF

ENTRETIEN ET NETTOYAGE
Cadre des chaises

- Nettoyer a la main avec une solution de savon doux et d’'eau, puis rincer a fond. Secher avec un linge doux.
- Ne pas utiliser de nettoyants abrasifs ou frotter trop vigoureusement, car cela pourrait abimer la surface.

10/10
Fabriqué en Chine




Juego de Comedor de 9 Piezas
ITM. / ART. 1309554

INSTRUCCIONES DE ENSAMBLADO, USO Y CUIDADO
IMPORTANTE: CONSERVE PARA REFERENCIA FUTURA.

LEA CUIDADOSAMENTE ANTES
ESTE PRODUCTO ESTA DISENADO PARA USO COMERCIAL EN EXTERIORES.

PIEZA # A B C D E

IMAGEN @

CANT 2 2 2 2 2

PIEZA # | AAM6x30 |BB M8x45 CC DD EE FF
IMAGEN | (Rmm | {mmmm| <=—=>| &) .-% —
CANT 12 8 8 8 8 2

¢ Preguntas, problemas o piezas faltantes? Antes de regresar el producto a la tienda, llame a nuestro departamento de Servicio al Cliente al 1-888-690-9800 o envie
un correo electronico a cs@sunvillahome.com, de lunes a viernes, de 8:30 am a 5:00 pm, hora del Pacifico de E.U.A o de 11:30 am a 8:00 pm, hora del Este de E.U.A..
Inglés y espariol.

PREPARACION
Antes de comenzar a ensamblar este producto, asegurese que todas las piezas estén completas. Compare las piezas con el listado de contenido de piezas y de

herramientas del empaque. No intente ensamblar el producto si faltase alguna pieza o si estuviera dafiada. Si asi fuera, no continle y llame a nuestro centro de servicio
al cliente. Tiempo estimado de ensamble: 45 minutos. Herramientas requeridas para el ensamble: Llave Inglesa (incluida)

INFORMACION DE SEGURIDAD
Por favor lea con atencion este manual completo antes de ensamblar o instalar el producto. Los nifios no deben participar en la operacién, el ensamblaje, remocién o
desmontaje del producto.

1/11
Hecho en China




Paso # 1 Paso # 2 Paso # 3

S I
o
Ik i

s
Iyt
gty

i

B
T

2/11

Hecho en China



Paso # 6

Paso # 5

Paso # 4

3/11

Hecho en China




Paso#9

Paso # 8

Paso#7

RIS, G-y

DHITRR -—-—-—————-—————

AR R
A\

Sy
———————
AT
o
o
i

oy
it

AR

DAY

AT,

PO A

PSRRI

AR R AT
AT R R
TR A

o R

o

¥

53 ——r\— S
s R

Cojin

- Para garantizar la durabilidad de su juego de patio, cada cojin de asiento esta fabricado con espuma de alta densidad. Es posible que con el uso inicial los cojines del

4/11

Hecho en China

asiento se sientan firmes, pero con el uso continuo, los cojines se suavizaran, proporcionando la maxima comodidad para las temporadas futuras




Paso # 10

CUIDADO Y MANTENIMIENTO

Armazodn de la silla
- Lave a mano con jabdn suave y enjuague bien con agua. Seque con un pafo suave.
- No use limpiadores abrasivos ni talle muy fuerte ya que esto puede danar la superficie.

Tela de la silla
La tela Sunbrella® debe limpiarse regularmente. Elimine toda la suciedad suelta y lave con una solucion de agua tibia y jabén suave. Para manchas dificiles y moho, lave

con una solucion de 236 mL (1 taza) de blanqueador y 59 mL (1/4 de taza) de jabdn suave por cada 3,8 L (1 galén) de agua. Enjuague bien para retirar el jabon.
Permita que la tela seque al aire. Nota: No lave a maquina.

5/11
Hecho en China




-—. L s S L
e ---—--’
--—-..--
- — . L L% — -
_ e o —
e e - S F
| B o ‘
_—'.-—_-_.-—_-.-—-_-_-— i oy
..-.—-——-'---- | Ao T
-h T Ly L | A
i ‘ / ‘
---.--- V 7 J - -~.-. — |
[ - A J |
» T Ti . :
- s ey 7 : :
. ]
) - ] | .‘
o ] |
. V e : ~.~.... —
" " —
| — " -y | ;
O 4 e
. | -.. --.
e |
& e v
S 3 L
B " -—.— L |
S — - . ."/
=S SRl

Paso # 3
Paso # 2
Paso # 1

“Fi‘i‘lﬁ
G
i «."-|'|I|I| ‘Illll |||\
S
:\‘t‘?’.’i",i‘.i'll‘l'l'l‘,“u'|‘ hl':“““{‘{l‘

g it

R

R
It ||l|l| ||"
f ||‘|||I|| il

G
iy
W" {“'f' I ‘|||Il||||||||'|ll||ll|l| il
ALY i i
il
) ||!|,I

<0
,.«»:ﬂiﬂ
i

=

iyl

i l|“|‘|=|||l|l|
Nl b
T

{H
il
#4 |||| llll“l\\
<
s G
» )
it
i it
il

T
i T
ity il
T HR Sy
] IR
SERERE ) || Iy
S [

ll |
TR
iy il
iRty 1y
i it e
|‘|‘Il b
S [
J

6/11

Hecho en China



Paso # 4
Paso # 5

Paso # 6

|||ll||"||‘=I‘||=|||‘l
i

rind

M T
piylybhtiy
R
R
Sttty
]
||'|“"|'l|‘=‘|' lllll!‘!H

I
«

ity
i
| A
b

iy

711
Hecho en China




Paso # 8

T

A

........... i .......

i,

(HHHHHTA I
i ity
A ]

Paso#7

P, SRR

HHHEHHHH —

R H T A R
CHHH A H N I H A LA
K H A A R R
L HH R A T A A R A ]
A R R M HH LR HR R
R

CUIDADO Y MANTENIMIENTO

Armazon de la silla

- No use limpiadores abrasivos ni talle muy fuerte ya que esto puede danar la superficie.

- Lave a mano con jabdn suave y enjuague bien con agua. Seque con un pafo suave.
Tela de la silla

Para manchas dificiles y moho, lave

on suave.

La tela Sunbrella® debe limpiarse regularmente. Elimine toda la suciedad suelta y lave con una solucion de agua tibia y jab

con una solucion de 236 mL (1 taza) de blanqueador y 59 mL (1/4 de taza) de jabén suave por cada 3,8 L (1 galén) de agua. Enjuague bien para retirar el jabodn.

Permita que la tela seque al aire. Nota: No lave a maquina.

8/11

Hecho en China




GG

HH

Paso # 1

PIEZA

# L M6x15| M8x40 FF

IMAGEN @mmm]m G——=C
CANT 2 4 8 1

Paso # 2

9/11

Hecho en China



Paso # 3 Paso #4

g——CFF

CUIDADO Y MANTENIMIENTO
Armazon de la silla

- Lave a mano con jabdn suave y enjuague bien con agua. Seque con un pafo suave.
- No use limpiadores abrasivos ni talle muy fuerte ya que esto puede danar la superficie.

10/11
Hecho en China




Distributed by:

Costco Wholesale Corporation
P.O. Box 34535

Seattle, WA 98124-1535

USA

1-800-774-2678
www.costco.com

Costco Wholesale UK Ltd /
Costco Online UK Ltd
Hartspring Lane

Watford, Herts

WD25 8JS

United Kingdom

01923 213113
WWW.Cc0stco.co.uk

Costco Wholesale Japan Ltd.
3-1-4 Ikegami-Shincho
Kawasaki-ku, Kawasaki-shi,
Kanagawa 210-0832 Japan
0570-200-800
www.costco.co.jp

Costco Wholesale Sweden AB
Saluvagen 5

187 66 Taby

Sweden

Costco Wholesale Canada Ltd.*
415 W. Hunt Club Road
Ottawa, Ontario

K2E 1C5, Canada
1-800-463-3783

www.costco.ca

* faisant affaire au Québec sous
le nom les Entrepéts Costco

Costco Wholesale Spain S.L.U.
Poligono Empresarial Los Gavilanes
C/ Agustin de Betancourt, 17

28906 Getafe (Madrid) Espafa

NIF: B86509460

900 111 155

www.costco.es

Costco Wholesale Korea, Ltd.
40, lljik-ro

Gwangmyeong-si
Gyeonggi-do, 14347, Korea
1899-9900

www.costco.co.kr

Importado por:

Importadora Primex S.A. de C.V.
Blvd. Magnocentro No. 4

San Fernando La Herradura
Huixquilucan, Estado de México
C.P. 52765

RFC: IPR-930907-S70
(55)-5246-5500
www.costco.com.mx

Costco Wholesale Iceland ehf.
Kauptun 3-7, 210 Gardabaer
Iceland

www.costco.is

Costco Wholesale New Zealand Limited
2 Gunton Drive

Westgate

Auckland 0814

New Zealand

Costco Wholesale Australia Pty Ltd
17-21 Parramatta Road

Lidcombe NSW 2141

Australia

www.costco.com.au

Costco France

1 avenue de Bréhat
91140 Villebon-sur-Yvette
France

0180450110
www.costco.fr

Costco (China) Investment Co., Ltd.
Room 1003, Block 2, 2388 Xiupu Road,
Pudong New Area, Shanghai

China 201315

+86-21-6257-7065

11/11

Hecho en China





